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QUESTION 1

Which of the following best describes a Network Provisioning rule? (Choose 1)
A. You can define one subnet per cluster and one pool per subnet.

B. You can define one subnet per cluster and multiple pools per subnet.

C. You can define multiple subnets per cluster and one pool per subnet.

D. You can define multiple subnets per cluster and multiple pools per subnet.

Correct Answer: C

QUESTION 2

You are configuring a synchronization between two clusters using SynclQ. You\\'re root directory is /ifs/data. You create
an include statement for /ifs/data/media and an exclude statement of /ifs/data/media/video. What will be synchronized to
the other cluster? (Choose 1)

A. Nothing will be synchronized.

B. Everything in the ifs/data folder will be synchronized.

C. Everything in the /ifs/data/media folder will be synchronized.

D. Everything in the /ifs/data/media folder except the /ifs/data/media/video folder will be synchronized.

Correct Answer: D

QUESTION 3

Which of the following is true about support for IPv6 addresses on an Isilon cluster? (Choose 1)
A. IP version 6 addresses are not supported on an Isilon cluster.

B. IPv6 addresses are not supported on the internal internode network

C. IPv6 addresses are not supported on the external network used for cluster clients.

D. There are no restrictions on using IPv6 addresses

Correct Answer: B

QUESTION 4

To configure redundancy for the internal node network, how many non-overlapping sets of IP addresses are required?
(Choose 1)
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A. None. The internal node network does not use TCP/IP.
B.1
C.2
D.3

Correct Answer: D

QUESTION 5
What does the Rebalance Policy control? (Choose 1)
A. Whether or not NFS failover occurs.

B. How static IP addresses are distributed to the nodes during NFS failover.

C. How dynamic IP addresses are distributed after a failed node comes back online.

D. How IP addresses are distributed among the nodes when NFS failover occurs.

Correct Answer: C
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